Thursday 04.06.2020
Fluent in Five
1. 6,078 + 2,179 = 
2. 100 x 2.7 =
3. 6 x 10 x 8 =
4.  of 81 =
5. 147 ÷ 7 =
Times Table Rockstars
Spend 10 minutes on TT Rockstars (ON SOUNDCHECK PLEASE!)
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2) @) Rory has been trying to find an efficient method
of multiplication to solve the calculation 31 x 7.
He has made an error. Identify, correct and
explain his mistake.

31x7=147
10x7=70
10x7=70
1x7=

70+70+ 7= 14

k) Show a more efficient multiplication method that
Rory could try
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1) Solve this calculation using the three
mathod below.
189

Method 1.
18%9=10%955%9=

Method 2.
18x0-18x10-18%1 +

Method 3.
18%9=20%9-2%9= -
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@) Use the digit cards to complete this
calculation to make an answer that is
as close to the target number as possible.
Each card may be used more than once.

EEEEE

k) Explain how you solved this problem.
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